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Evaluate the following limits.
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3, Test the continuity and discontinuity of the following functions.
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4, Determine whether the following function are continuous at x = 2
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6. Find the value of k if f(x) = { X

.
sinkx x % 0

1s contiuous at x = 0.
7 x=0

[' (m\"?“ VTR x’( =0

\

i o= 6.
\im Sink x - 9
A0 X
(L'n) S\'V\‘(X L
Gl L~ ) = A
. k=
k=2
( kx—9 x<5 \
j Find the value of k if f(x)={9x—k x > 5 1scontinuous at x = 5.
36 x=5
\9-‘: f(x) \S CM\‘Y?Y\\LD(.LS 3\\'. K 5
= ‘\'m =
2 o o f (5)
= \\'\m ~ (X) = I‘m ) =
L -5 )C 'l—bg'-fX) ‘f(S)
I
7‘25 (k"-q) - )‘"‘_,5_ (OIx—-k) = 364
k(5)-9 = Q(s)-k = 3¢
Sk-9 = 45-k = 3¢
k-9 =
S : 9 =3¢ he- ke =3¢
Sk=3¢49:54%5
45 -36 = [
(- 45
J



8. Find the values of m and n, so that given function f 1s continuous at x = 3.
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Find the value of k so that f 1s continuous at x = 2.
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